Non-Calculator

Ql.
(@) Factorise x2 -100

Answer

(b) Solve X+ 6>1+2x

Answer
(2)
(Total 3 marks)
Q2.
(@) Solve 4x -7 <13
Answer
(2)
(b)  Show 3<x<8 on the number line.
T 1 T T T ] i
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(Total 4 marks)



Q3.

(@  Show theinequality x> -2 onthe number line.

=TT 0 1 2 3 4 X

(b)  Solve the inequality 3x+5<11

Answer

(2)
(Total 3 marks)

Q4.
(@ Solve 4(x+3)=17

Answer x =
(3)
(b) Solvetheinequality 2n-1>5
Answer
(2

(Total 5 marks)

Q5.

nis an integer.

List the values of nsuchthat -12<3n<6

Answer

(Total 2 marks)
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Q6.

6 < 2n List the possible integer values of n.

Answer

(Total 3 marks)

Q7.
(@ Solve 5x-11>29
Answer
(2)
(b)  Show the solution of 3x<12 on the number line.
[ S O R Y A I I Z
1 1 1 1T | x
0 1 2 3 4 5 G T 8 9 10
(2)
(Total 4 marks)
Q8.

Solve 3x-5>13

Answer
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(Total 2 marks)



Calculator

Qo°.
Work out the greatest integer value of x that satisfies the inéquallfy < 1

Answer

(Total 2 marks)

QI0.

w is an integer such that 6 < 3w < 18
xis aninteger suchthat -4 < x<3

(@  Work out all the possible integer values of w.

Answer
(3)
(b)  Write down the highestpossible value of  x?2
Answer
(1)
(c)  Work out the lowest possible value of W - x
Answer
(2)
(Total 6 marks)
QI1.
Solve 5d-3>d+17
Answer
(Total 2 marks)
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Ql2.

Circle the inequality shown by the diagram.

Ql3.
Solve 20+w<3(w+2)

-4<x<5

(Total 1 mark)

Answer
(Total 3 marks)
Ql4.
(@ Solve 5x-2<6
Answer
(2)
(b)  List the whole number values of n that satisfy 1.5<n <6
Answer
(2)
(Total 4 marks)
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